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ljBfyL{ ;]6 -v_ 

                             lgbfgfTds k/LIff 

sIff M ^ ljifo M lj1fg tyf k|ljlw 

 

      

 Group 'A' 

tnsf k|Zgsf] ;xL ljsNkdf l7s -√_ lrx\g nufpg'xf];\ .  Tick -√_ the correct alternative 

for the given questions.      (151=15) 

1. nDafOsf] SI PsfO s'g xf] <  
What is SI unit of length?    

   

A. ;]lG6ld6/ (Centimetre) 

B. 8]l;ld6/ (Decimetre) 

C. ld6/ (Metre) 

D. lsnf]ld6/ (Kilometre) 

 

2. nuftf/ :df6{kmf]g / sDKo'6/df sfd ubf{ tnsf dWo] s'g lsl;dsf] ;d:of b]lvG5 < 

What kind of problem appears after continuous use of smartphone and computer? 

 

A. k]6 b'Vg] (Stomachache) 

B. afGtf x'g] (Vomiting) 

C. cfFvfdf ;'Svfkg cfpg] (Dryness of eyes) 

D. sfg g;'lgg] (Deafness) 

 

3. Ps lbgdf slt ldg]6 x'G5 <  
How many minutes are there in a day? 

 

A. 2400 

B. 1440 

C. 1024 

D. 1200 
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4. tnsf dWo] pTkfbs s'g xf] <  

Which of the following is producer?     

 

 

5. tnsf dWo] s'g hgfj/ hnr/ xf] <  

Which of the following is aquatic animal?  

A. pF6 (Camel) 

B. 8lNkmg (Dolphin) 

C. Eofu'tf] (Frog)  

D. af3 (Tiger)   

 

6. s's'/ s'g ;d"xdf k5{ <  

which of the following  group does   the dog fall? 

A. zfsfxf/L (Herbivores) 

B. df+;fxf/L (Carnivores) 

C. ;jf{xf/L (Omnivores) 

D. ljR5]bs (Decomposer) 

 

7. RofpnfO{ lsg ;]k|f]kmfO6; elgPsf] xf] <  
Why mushroom is called saprophyte? 

A. lsgls of];Fu xl/ts0f x'G5 . (Because it has chlorophyll) 

B. lsgls o;n] vfgf agfpFg ;Sb}g . (Because it cannot make food) 

C. lsgls of] ;8]un]sf tyf d/]sf hLjdf lge{/ /xG5 . (Because it survives on dead and 

decayed organisms) 

D. lsgls o;df k|f]l6g krfpg] u|GyL x'Fb}g . (Because there is no gland for digesting protein) 

 

8. kfgLnfO{ cUnf] 7fpFdf hDDff ul/Psf] 5 . ha of] kfgL tn v:5 / 6/afOg 3'dfpF5 . of] 

k|lj|mofdf l:ylt zlSt s'g zlStdf ¿kfGt/0f x'G5 <  
Water stored at a height in a dam has potential energy. When it flows down and rotates a 

turbine, into which energy is the potential energy converted?? 

A. Uflt zlSt / tfk zlSt (Kinetic energy and heat energy) 

B. Uflt zlSt / ljB't\ zlSt (Kinetic energy and electrical energy) 

C. Wjlg zlSt / tfk zlSt (Sound energy and heat energy) 

D. Wjlg zlSt / r'DasLo zlSt (Sound energy and magnetic energy) 

 

 

 

 

 
A. 

B. 

  C. 
D.   
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9. xfdL 3fddf a:bf xfd|f] z/L/ tfltg'sf] sf/0f s] xf] < 
Why does our body gets heated when we stay at sunlight  ?  

 

A. z/L/n] tfkzlSt 5f]8\g] ePsfn] (because our body releases heat) 

B. z/L/n] tfkzlSt lng] ePsfn] (because our body absorbs heat) 

C. z/L/sf] tfkzlSt 36\g] ePsfn] (because heat energy of our body decreases) 

D. z/L/sf] tfkzlSt kl/jt{g gx'g] ePsfn] (because heat energy of our body does not 

change) 

 

10. lbOPsf dWo] s'g hl6n oGq xf] < 
Which of the following is complex machine? 

 

A. s}FrL (Scissor) 

B. ;fa]n (Shovel) 

C. sf]bfnf ] (Spade) 

D. sDKo'6/ (Computer) 

 

11. tnsf dWo] s'g egfO ;xL 5 <  
Which of the following statements is correct?  

A. k[YjL ;"o{af6 ;a}eGbf glhssf] u|x xf] . (Earth is the nearest planet to sun) 

B. ;"o{n] k[YjLsf] jl/kl/ 3'D5 . (Sun revolves around the earth) 

C. k[YjL Pp6f pku|x xf] . (Earth is a satellite) 

D. k[YjLn] ;"o{sf] jl/kl/ 3'D5 . (Earth revolves around the sun) 

 

12. g'g / kfgLsf] 3f]nnfO{ s'g lsl;dsf] ld>0f elgG5 < 
What type of mixture is the combination of salt and water called?  

A. ;dfg ld>0f (Homogeneous mixture) 

B. c;dfg ld>0f (Heterogenous mixture) 

C. sf]nf]O8;\ (Colloids) 

D. ;:k]G;g (Suspension) 

 

13. s'g ld>0f 5'6\ofpg] ljlwaf6 afn'jf / kfgLsf] 3f]nnfO{ 5'6\ofpg ;lsG5 <  

Which method is suitable to separate sand and water?  

A. lyu|fpg] (Sedimentation) 

B. pWj{kftg (Sublimation) 

C. jfikLs/0f (Evaporation) 

D. lgyfg]{ (Decantation) 
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14. tnsf dWo] cwft'x¿sf] ;d"x s'g xf] < 
Which of the following is the group of nonmetals? 

 

A. tfdf, rfFbL, uGws, l;lnsg (Copper, Silver, Sulfur, Silicon) 

B. tfdf, uGws, ;'g, l;lnsg (Copper, Sulfur, Gold, Silicon) 

C. Snf]l/g, gfO6«f]hg, uGws, clS;hg (Chlorine, Nitrogen, Sulfur, Oxygen) 

D. tfdf, kmnfd, rfFbL, ;'g (Copper, Iron, Silver, Gold) 

 

15. wft'sf] s'g u'0fsf sf/0fn] ubf{ o;df ljB't\ k|;f/0f x'G5 <  

Which property of the metal allows it to  conduct electricity? 

 

A. d]lnPlaln6L (Malleability) 

B. 8lS6ln6L (Ductility) 

C. sG8l6le6L (Conductivity) 

D. 6ns (Luster) 

 

Group B 

            tnsf k|Zgx¿sf] pQ/ lbg'xf];\ . Answer the following questions. 

1. lj1fg l;sfOdf dlN6ldl8ofsf] k|of]un] kfg]{ Pp6f k|efj pNn]v ug{'xf];\ .   (1) 
Mention any one effect of using multimedia in learning science. 

………………………………………………………………………………………

…………………...…………………………………………………………………… 

2. kfgLDff kfOg] hgfj/sf] cg's"ntfsf s'g} b'O{cf]6f nIf0f n]Vg'xf];\ .  (2) 
Write any two adaptation characters of aquatic animals. 

……………………………………………………………………………………

……………………...…………………………………………………………… 

3. kfl/l:ylts k|0ffnLdf ljR5]bssf] s'g} Ps e"ldsf n]Vg'xf];\ .   (1) 
Write any one role of decomposer in ecosystem. 

……………………………………………………………………………………

……………………...……………………………………………………………. 
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4. cfkm\gf] 3/ j/k/ /x]sf Ps÷Pscf]6f df+;fxf/L tyf zfsfxf/L hLjx¿sf] gfd  

n]Vg'xf];\ (2) 

Write the names of any one/one carnivorous and herbivorous animals around your locality. 

df+;fxf/L 

Carnivorous:………………………………………………………………………. 

   zfsfxf/L Herbivorous:…………………………………………………………………. 

 

5. a/km s'g cj:yfsf] kbfy{ xf] < Which state of matter is ice ? (1) 
 

……………………………………………………………………………………… 

6. ;f}o{ zlStsf] k|of]un] s;/L pmhf{ ;+/If0fdf ;xof]u k'¥ofpF5 < s'g} b'O{ pkfo n]Vg'xf];\ .    (2) 
How does use of solar energy help in energy conservation? Write any two measures. 

………………………………………………………………………………………

…………………...……………………………………………………………………

………………………………………………………………………………………… 
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7. lrqsf] cWoog u/L tnsf] tflnsf k"/f ug{'xf];\ .  

 (4) 

 Study the figure and complete the following table.          
 

         

            

 

/f;folgs kbfy{x¿ 

Chemical substances 

k|of]u 

Uses 

 clws pkof]usf sf/0f 

dfgj :jf:Yodf  kg]{ k|efj 

Harmful effect of overuse on 

human health 

g'g Salt   

 

lrgL Sugar  

 

 

 

 

 

8. df6fsf] klxnf] tx s[lif sfo{sf nflu clt pQd x'G5, o;nfO{ k'li6 ug]{ s'g} Ps tYo n]Vg'xf];\ . 

(1) 
Top layer of soil is very essential for agricultural activities. Give one statement in support of it. 

 

………………………………………………………………………………………

…………………...…………………………………………………………………… 

-s_ -v_ 


